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Note: the 21971 onwas placed on the jnsw on naw, along with the 2 cups (o2°13) of 71125, The onband 7135 are

inextricably related.
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L Establishing the context of the niwn
a. Cannot be: ‘every day’ — no need for 2”3
b.  Cannot be: 3"nv - no concern about moonlight (10" of month)
c.  Answer: mwn is mixed:
i.  Every day (no matter where in the lunar cycle): “>8p72” etc . — due to confusion with moonlight
ii. On 5777~ after that call, they would take 3”13 down to n%a0n n»a
II. AR "7’s father’s extension (of procedures invalidated if performed before first light): 91yn npon, nnann ynip
a.  Challenge (to ppiz 91i1 nip2op is reasonable — can’t be “fixed”): re-collect the ymp after 1% light
i. Answer: nw 93 (into which ymp is placed) sanctify even in wrong time-frame
ii. Challenge: ©9n onb that was set up on Sunday cannot be executed the next naw:
1. Solution: leave them for another week
2. since: the ;nYw does not designate them if placed in wrong time-frame
a. answer: night belongs to following day = w7pn, unlike separate days
b. challenge: on% should become invalid at onset of naw (at night)
i. defensel: he takes it off the table before the beginning of naw
ii. defense2: since it was set up at a non-invalidating time, never 51va
II1. Analysis of final clause of the mwn (%M D V1TP/nYav after eliminatory functions)
a. o517 wrvp is reasonable (drops); hands a person should qwawn
i. Support: from dictum that a person should never walk out with drops on his legs
1. Reason: looks like castratum, leads to rumors about the lineage of his children
ii. Tangent: no reading Ynw in a place where nR¥ is in its place (anal cavity)
1. Question: is it seen or not seen — (seen- obviously prohibited; if not, 91mn)
2. Answer: quasi-visible, depending on body stature
a. Note: this is worse than nR on his body (e.g. hand) — stench more intense
iii. Tangent2: acceptable behavior for returning to public meal after eliminating:
1. If: urinating, wash one hand
2. If: defecating, wash both — inside the meal (so noone will suspect of not washing)
a. Only concern: if drinking (dessert), if still eating, may wash inside
i. Reason: all know that he wouldn’t eat without washing hands
b.  Someone who: is known to be fastidious may wash — even for drinking — outside
i. Reason: no one would suspect him of returning without washing
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